£ =
g OH N PR E
1. ¥54
S A0 T FE 2 AN B TE K X A R A S 75
BT AT P IR N = R T ACK Hp S

2. EBNE

1) FHIT4 Ve [ E ST
2) JEATHAR] SR THETA 1H ~45F 8% 1H 308 214HR

3) B
REHT, VB EE AT 52— EE 20352 AEGE R (1) S48 FTHIBASFO 7280 1200 8870 ] HiH 3
BhEELTHHLOTHD,

4) EGNE
B RS R R DL RY

=] 2230 LN 5 B A S




/3 MR N R H

e T T 7 EESAEEERAKMR S AR RS *E  MEaIVYILEYMER
I5H RtEAEF R
#R - I7& - &5 Bfr HE oo} it Al A R

EEIEE 16, 297, 927
AGEE 15, 233, 559
EEAGE 15, 233, 559
EE 75 1 151, 220
LUITEE ] 1 56, 450
hRETEE E] 2 101, 700
REMMARITEE ] 1 56, 450

T A 75 1 154,000 +0

NHFDEE m 56000 297,920 +0

T DB HFEDAE m 56000 383,040 +0

EFEEZRE (B m 56000 383, 040 +0
PNEFEREEGERIER m 56000 212, 800

AR m 56000 1,423,968 +0

TR R TSR EER m 56000 510,720 +0




2/3

#H - I - &5 Bfr HE oo} it Al R
HPEERDRE m 56000 990, 752 +0
RRAE (W m 56000 1,733,816 +0
AR FRMRE m 56000 918,904 +0
EEAE () m 56000 1,580,656 +0
A=A (FER) m 56000 1,104, 264
Rt S mE X m 56000 529, 480
T HuERE R m 36500 249, 659 +0
T R E AT AL m 50000 448, 345 HiHhFR
T RAEEERK m 50000 2,090,000 +0
R RARRE m 56000 1,090,992 +0
NHAMEREITESE =75 1 199, 660
R 50 SRR T X 4 AR m 3000 68,424 +0
A b7 7 (X1 4 km 0.3 193,479 +0
IRREZ R km 0.5 83, 560




3/3

#R - I7& - &5 Bfr HE oo} it Al R

SR km 0.5 163, 260
IRANHEIL ERE 25 57, 000
EEEE 1,064, 368
HHE = 1 216, 997
HHRE = 1 207, 543
RE - XBE = 1 85, 307
BEFRRAERE = 1 159, 000
REEEE = 1 395, 521
FERER 11, 647,073
ERE 11, 647,073
ERE = 1 11, 647,073
AN ERE 25 195, 000
FE TS 28, 140, 000




